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MENSURATION .

Thepartofgeometryconcernedwithascertaininglengths,areas,andvolumes.

e

Cylinder Cone Frustum Cone Sphere
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Hemisphere Cuboid Cube

23GET176-VQAR-II ~UNIT2- MENSURATION Mr. SAMINATHAN.C/ MATHS/SNSCT 2/15



MENSURATION
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MENSURATION

Square

Rectangle

Circle

Square

Rectangle
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Trapezoid

Circle

Mensuration Formulas

P=4s
P=2(1+w)

C=2xar

A=l
Azlbh

2

1
A:E(f’ﬁbz)h
A=m

Cube
Cylinder
Cone

Sphere

Cube
Cylinder

Cone

Sphere

S4 =471t

S4 = 65°

SA =2xrh+21t
SA=xrl

V =mr'h

1
V =—xrh
3

4
V=—mar
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MENSURATION

Explanation:

5 Ccm

4 Cm

= cm

Radius = 2 cm

Clearly, we have r=3cm and 7 = 4 cm.

|

1
Volume = T r2h = (E xﬂxﬂzx-ﬂ]ﬂimg — 121 em?3.
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MENSURATION

Explanation:

1 hectare = 10.000 m*

So, Area = (1.5 x 10000) m? = 15000 m<.

3 1
Depth= —m = —m
100 200

1
. Volume = (Area x Depth) = [150:}&:-: ﬁ]n@ = 750 m?.
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MENSURATION

e

Explanation:

= M= Err1 '@m
27 3

20Y 4
-~ Volume = | 15x 12x —|m” = 1200 m-.
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MENSURATION

Explanation:

External radius = 4 cm,

Internal radius = 3 cm.

; _ (22 2 2 3
Volume of iron = . % [(4)° - (3)5] x 21 |cm

22 3
= T}{TK"lI{E‘I cim

462 cm”.

. \Weight of iron = (462 x 8) gm = 3696 gm = 3.696 kg.
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MENSURATION

e

Explanation:

Volume of water displaced = (3 x 2 x 0.01) m?

= 0.06 m~

Mass of man = Volume of water displaced x Density of water

= (0.06 x 1000) kg

= 60 kg.
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MENSURATION

e

Explanation:

Area of the wet surface =[2{lb + bh + 1h) - 1b]

= 2(bh +iA) + D

=[2(4%125+6x125)+6x4] m?

= 49 m<.
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MENSURATION

Explanation:

Clearly, | = (48 - 16)m = 32 m,
b = (36 -16)m = 20 m,

f

8 m.

 Volume of the box = (32 x 20 X 8) m= = 5120 m*~.
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MENSURATION

e

Explanation:

Let the thickness of the botiom be x cm.
Then, [(330-10) x (260 - 10) x {110 - x)] = a000 x 1000

— 320 x 220 x (110 - x) = 5000 x 1000

a000 x 1000
320 x 250

100

= (110- %) =

—= X=10cm=1dm.
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MENSURATION

Explanation:

Volume of the large cube = (3% + 4% + 5%) = 216 cm™.

Let the edge of the large cube be a.

So. a°=216 = a=6cm

65X (3%+4%+ 533] 50

“ Required ratio = [ = — =25 18.
36

5 x 62
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MENSURATION

e

Explanation:

Number of Bricks = < ime of 1 brick

Volume of the wall o000 x 600 x 225
= = 2400,

22X 11.25X6
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